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WALT SO[VC lenng worcl Problems.
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Read Hw worcl Problem. ]:d/enhfﬂ H’le lenng Of H’le flrst number. Add Hw seconcl number tO

find Hw answer. USG a ruler tO help Hw chlldren count on l70 find Hw answer.

JOCI(IS car was 8cm long. Tom‘s car
was |Ocm longer. Whak was Hw lenng

Of Tom‘s CO,I"?
Example-

80m + |Ocm = |80m

Simran's Pencll was 10cm long.
Susan's Pencil was |5cm longer. What

was Hw lengH’» OJ.' SUSOI’I,S Pencil?

Desmond’s book was 9cm long. Tim's
book was 15cm longer. What was the
lengH’L of Tim's book?

SOFOHS CUShiOH was 7cm long. BCHO,S
cushion was |4cm longer. WhQIT was

H‘»e lengH‘m Of SGI"OHS cushion?

Sid,s ITUCI( was 50m long. Ted's ITUCI( was

|8cm longer. \/‘”'LOIT was H’LC lengH’» OJ.'

GFOCG'S truck?

Hamida's shick was 6cm long. Grace's shick

was | Tem longer. Whal was the lengHw of
Grace's shick?




